Olympiad 2019
Class 8

Important Information

» All questions carry equal weightage.

» 10 minutes are provided for filling the OMR sheet and reading the instructions.

» Exam duration is 1 hour only.

> Please ensure that this question paper has 50 questions.

» ltisdivided into the following sections —
e For class 1st to 5th: Mathematics, Science, English and General Knowledge
e For class 6th to 10th: Mathematics, English, Science, General Knowledge and

Logical Reasoning

» Every question has one correct answer.

> Please read the instructions for answering given on the OMR sheet.

» Candidates must submit a completely filled OMR sheet before leaving the hall.

» There is no negative marking.

Section A — Mathematics

1. What is 150% of 64?
64 BT 150% FTR?
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42
9.6
4.2
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2. Which solid would be formed with the given net?
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a. Triangular Pyramid



b. Square Pyramid
c. Hexagonal Pyramid
d. Rectangular Pyramid
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. To reduce a rational number in its standard form, we divide its numerator and

denominator by their__
a. L.C.M.
b. H.C.F.
c. Product
d. Multiple
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. Vandana's grandmother is 70 years old and Vandana is 22 years old. How many years
ago was her grandmother 5 times as old as her?

10 years

12 years

14 years

16 years
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a. 1091
b. 1291
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c. 1491d
d. 16 91d

If the distance traveled by car in one hour is 180 km, then the distance traveled by the
same car with the same speed in 60 seconds is

UG HHBRERAFADG TS GI1 180 fHHig, ASHBRERT 60
A ARSI B g gl

1080 m
3000 m
4800 m
5400 m
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An electrician purchased 100 bulbs fork 15 each. However, 5 bulbs had to be returned as
they were defected. The remaining bulbs were sold atX 18 each. Find the gain or loss
percent.

a. 10% gain

b. 14% gain

c. 12% loss

d. 8% loss

THSARIRGT 100 TeaaR1e, TTAHITDIBIHIR 15 $Udg BTAl1b, 5
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a. 10% oY
b. 14% <Y
c. 12% JdH
d. 8% Il

The length and the breadth of a rectangular field are 24 m and 18 m, respectively. What is
the length of the largest straight line that can be drawn on the floor of the field?

a. 24m

b. 28m



c. 30m
d. 34m

TP SAIBRAG G AT SIRATSTSHHRT: 24 m 3R 18 m
R EERIBIREI CANEIEE R RS MR E A I R E ISR E I

a. 244
b. 28t
c. 30H
d. 34

. At the airport, there is a moving walkaway 500 meters long, which moves at a speed of 4
km/hour. Aditya and Ravi step on the walkaway at the same time. Aditya walks at a
speed of 6 km/hour on the walkaway, while Ravi stands still. When Aditya comes to the
end of the walkaway, how far is he ahead of Ravi.

a. 300m

b. 260 m

c. 280m

d. 200 m
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. Priyanka borrows 12500 at 12% per annum for 3 years at simple interest and Raima
borrows the same amount for the same time period at 10% per annum, compounded
annually. Who pays more interest and by how much?

ORIBTATYRUISATSIUR 3 ITcAPBIeNY 12% Ufdd¥dh ieaTez12500
PR YRR SRR ISHTAH gl el TR 10%
Ufdade RaeaTaH3af IS RITTHMRIRS YRS B3I Ie I dig 3R e dT?




Priyanka ,3275
Raima ,3215
Raima ,3374
Priyanka ,3362.5
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10. Rhea had to add 36 to a certain number. Instead, she subtracted 36 and obtained -26.
What number should she have obtained?

R Ius MBI 36 SiSTUT ST, 39 36 UeTATSIRUTE BT -26|
UM R AT g YT

36
24
40
46
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Section B — Science

11. The voice of which of the following is likely to have the lowest frequency among the
following?
a. Baby girl
b. Baby boy
c. Aman
d. Awoman

frafaiad & J frae! smaret &1 3Mgiy Ja9 HH g B YU 87

a. ﬁl’f{lﬁm
b. TRIY aTeieh
c. Ud3figHt
d. TR

12. A glass rod is rubbed with a piece of silk cloth, the rod .
a. And the cloth both acquires positive charge.



13.

14.

b. Becomes positively charged, while the cloth has a negative charge.
c. And the cloth both acquires a negative charge.
d. Becomes negatively charged, while the cloth has a positive charge.
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Some basic steps are needed in agricultural practice, which are listed here from 1 to 7.
Which of the following options shows the right sequence?
(1) Preparation of the soil ~ (2) Harvesting (3) Irrigation
(4) Broadcasting (5) Tilling (6) Weeding
(7) Manuring
FAAG YA HGHID R dg AN, SIgel 1 9 7 dhgdiaes |
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(2) IR () Fer (3) Ri=rg
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a. 1,5,7,4,3,6,2

b. 1,3,56,4,2,7

c. 1,3,524,6,7

d 1,56,24,73
As soon as the table is tilted, a ball kept on it starts rolling.

Which is the force that causes this motion?
a. Friction
b. Push by table
c. Rolling force
d. Gravitational pull by the earth
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15. What happens in the test tube that causes the candle flame to extinguish?

[ |

CaCO, + HClI Candle flame
extinguishes

Evolution of O; gas
Evolution of CO> gas
Formation of Ca(OH):
Formation of CaCl»

oo o

[a W o N

C%CGJ\GIHOI’QIGIdIE;\YIIHIHGITIICbI |d>|§i§l|"|0|'>lcl'>l‘{ul®|"|dlﬁ'7

a. Ozﬁ%ﬁw

b. COATHIAGT
C.
d

Ca(OH), BHTEA
CaCl, T3

16. Why reproduction is considered the most important characteristic of a living organism?
a. Itallows an organism to be immortal.
b. It reduces competition among organisms for various resources.
c. Itisessential for the continuation of the species.
d. Itis essential for the growth and development of an organism.
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17. Anirudh has set up an experiment to compare the strength of different fibres. He arranged
the set-up as shown in the figure :

Hook

Threads of same
length and thickness
wara taken

Weight wera put
/"l-:lne by one lill the
thread broke

Arrange these threads in order of their increasing strength.
a. Nylon < Silk < Cotton
b. Silk < Cotton < Nylon
c. Cotton < Nylon < Silk
d. Cotton < Silk < Nylon

TGS T b I daTHh b [IUB TN BTG (S5 - e H G I 38T
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a. AAA<RA<GUN
b, WH<BUH<ATIA
. BUNH<AIA<IRH
d. PURIRRH<ATA

18. When a body is immersed in a fluid, it experiences an upward thrust which depends on
a. The weight of the fluid displaced by it
b. The volume of the body
c. The mass of the body
d. All of these
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b. YRGBT
c. IRRBIGHAM

d. ag+t

19. How does the conversion of energy take place when we use biogas to produce electricity?
a. Chemical to electrical energy
b. Kinetic to electrical energy
c. Nuclear to electrical energy
d. Muscular to electrical energy
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20. In the bell jar experiment, the loudness of the sound of the bell gradually increases with

»To electric connection|

A

" Switch
Cork

4—Bell jar

Electric bell

— To vacuum pump

a. Increase in the atmospheric pressure



b. Decrease in quantity of air
c. Increase in quantity of air
d. Decrease in the atmospheric pressure
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Section C — English

21. “He will have all the facilities”. This sentence is in which tense?
a. Simple future tense
b. Future continuous tense
c. Future perfect tense
d. None of these
22. Choose the odd pair.
Annoy: Irritate
b. Comprehend: Understand
c. Spectator: Onlooker
d. Reserve: Supply
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23. The broadcast of the Chief Minister’s speech remained ______interrupted.
Mis

Dis

Un

Non
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24. Soumya and Rupesh for five years.
a. Has been married
b. Have been married
c. Are married
d. Is married



25.

26.

27.

28.

29.

Change the active voice into passive voice.
“The teacher will not explain these questions.

a.

These questions will not be explained.

b. These questions will not be explained by the teacher.
C.
d

These questions will be explained by the teacher.
None of these

Find the type of pronoun in the sentence.
“I myself locked the door.”

a

b.
C.
d.

emphatic
reflective
relative

none of these

Select the synonym (similar) of the given word : CROOKED

a.

gentle

b. peaceful
C.
d. colorful

twisted

Change the sentence from direct to indirect speech.
“He will file a report”.

oo o e

A report would be filed by him.
A report will be filed by him.
A report is filed by him.

A report was filled by him.

Sonia: Did the magician take a out of a
Ajay: No, no. He took out a out of a

a. habit, rat, rabbit, hat

b. hare, hat, rabbit, rat

c. habit, rat, rabit, hat

d. habbit, rat, rabbit, hat



30. The flight , When he reached the airport.
a. has departed
b. will be departing
c. isdeparting
d. had already departed

Section D — General Knowledge

31. NDA won General Election 2019 in India with 354 seats. What is the full form of NDA?
a. National Defiance Alliance
b. National Democratic Agency
c. National Defiance Agency
d. National Democratic Alliance

NDA 7 354 HIeihraryHRAHSTHTATE 2019 STdT| NDA HTYURSURIG?
a. PISARUNSELT
N BRIC | EEAUE L]
c. PIASfageTTGI!

d

BB ERIIECRIGELE]

32. How many fundamental duties are there in the Indian Constitution?

YR faUT b dIH i dh g ?

11
15
21
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33. Who wrote “Sare Jahan Se Accha” song?
a. Rabindranath Tagore
b. Muhammed Igbal



c. LalaLajpat Rai
d. Chandrashekhar Azad

"IROE ST idfhgaferarg?
a. ey
b. eMcgHad
c. ATATASIUdR™
d. TGRS

34. Which is the most popular search engine of the world?
a. Yahoo
b. Safari
c. Navigator
d. Google
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35. According to a survey in 2019, which is the happiest country in the world?
Finland

b. Ireland

c. Poland

d. Switzerland
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36. Who has the authority to remove the governor in India?
a. The Judiciary
b. The Chief Justice of India
c. The President
d. The Prime Minister
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37. Noble Prize is awarded in how many areas?
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38. What is the unit of Pressure?
a. Pascal
b. Watt
c. Joules
d. Newton
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39. Who is the founder of Wipro Limited?
a. Mukesh Ambani
b. Kamal Nath
c. Bharti Mittal
d. M.H. Hasham Premji

AR e .
a. goh3iaml

b. HHTAY
c. HROIEE

d. TH TF gH Yol
e.
40. What is the name of Jawahar Lal Nehru’s autobiography?
a. Toward Freedom
b. Wings on Fire
c. Children of Men
d. The White Tiger
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Section E — Logical Reasoning

41. Find the missing term in the sequence: 4, 8, 32, 192,

ST ATIIRIRSITRITADN: 4, 8, 32, 192,
a. 384
b. 768
c. 1536
d. 1920



42. Find the missing character to complete the pattern.

e I RIHR A [ AT ATERSTB IR Y |

40 (18 | 72

20 | 3

=

18
36
24
16
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43. Choose the odd one out.
ICLEECH

4211
3302
6110
5430
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44. If the day, before yesterday was Thursday, when will Sunday be?
a. Tomorrow
b. Today
c. Day after tomorrow
d. None of these
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45. Select the option which represents three out of five alternative figures which when fitted
into each other would form a complete square.

B eISTagAD Y, Saddb b fidH e ,
: 5

> v 7 <7 D
(1) (2) (3) (4) (5)

2,4,5
1,4,5
1,2,3
2,3,4
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46. Find the missing term.

ATTdTERATH I AT Y |

1,4,9,16,  , 36.
a. 21
b. 25
c. 27
d. 30

47. Which point is south west of P?
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48. A is B’s sister.
C is B's mother.
D is C's father.
E is D's mother.

Then, how is A related to D?
a. Grandfather

b. Grandmother
c. Daughter
d. Granddaughter

A, B 1aeo |

C, B®HGI

D, C HIfUdTg |

E, D HHG|

R, A, D Yhaadg?
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49. A man is facing north-west. He turns 90° in the clockwise direction, then 180° in the
anticlockwise direction and then another 90° in the same direction. Which direction is he
facing now?

a. South West

b. South East

c. South

d. East
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50. Today is Arpit's birthday. One year from today, he will be twice as old as he was 12 years
ago. How old is he today?

rfiaemTorHieTg | SRTGITadTe, I8 12

~\

UG AD I TH G NG T | TSI g fha-aTa b Te ?

20
22
25
27
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